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Reg. No
NADIC  eervenrrerreererecrenssoenesssroreanns
Second Year — March 2018 . Time : 22 Hours
Cool-off time : 15 Minutes
Part — 111
SOCIOLOGY

Maximum : 80 Scores

General Instructions to Candidates :

There is a ‘Cool-off time” ot 15 minutes in addition to the writing time.

Use the "Cool-off time” to get familiar with questions and to plan your answers.
Read questions carctully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version ot the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Part -1

Q. Nos. [ to 5. Answer all questions, each question carries 1 Score. (Scores : Sx 1=

i

Which among the following is not a factor responsible for the decline in the child sex

ratio in India ?

(a) Female infanticide

fh) Severe neglect of girls babies in Infancy.
(¢)  Selective abortions ot temale fetus.

(d). Boy babies are more healthier than girl babies at the time of birth.

To overcome biased and incomplete knowledge about the society, we have to look

oursehves through the eyes of'others. Thisis termed as

Which among the following statement is right regarding caste in the present India ?
(a) Caste is invisible to both upper castes and lower castes.
(b) Caste is visible to both upper castes and lower castes.

(¢) Caste is visible to lower castes and invisible to upper castes.

_(d) Caste is invisible to lower castes and visible to upper castes.

In Sociology, gender ineq'uality is consideredas ___ inequality.
(a) Natural

(b) Biological

(¢) Physical

(d) Social
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Part -1

I Mo 5 A00wBs of)gl0 Calo3iBMREN)e DOMAs afe)®)dh. BICO0 capod

afll@. : . (cpaday : Sx 1 =5)
. o%ee alo@mudiad @emylad WlveledMan@e  B&JOWANINY

HOVENAIHITTID D 7

(@)  @atem KAl

(b)  ©aleMd)gld6cR35)88 BOIMAIW @RAINEMM

(C) &M @) anD)

(d) KROMALOVOT ERYIBDHGHUB HAIMIBISIGBERBNUB @R EOINABBAIRIWBY

OMHIENE .

2. QU2E0ed @3h)Gla)ifs Maldanall aldtald®el00)R0 @ROIQ GOEMo 61219003
M% MOW@OMN  AQIBBAURINS SHEMBEILNNS CMISNMSICMEEDITE. DGIOM

a)aM} al0@)aM).

73]

DOOH®  alOWIAN (AITUDOIAIMSSITS  ROONOW  TVoMITWlaf  QAUBTHBOME0E)

MVOAN 2 IDYDTNDS LIANVWIVD aB@) 7

(a) DA R0GHeBAN) @OYIN RO L6000 20T @RAWDIA0ET.

(b) oA RONBNIBE OFIN ROTNBNOBEN)o L20@I YWD IMOET.

(¢©) @M ROGNEHIB68 RITN B1UdLAI)e HWAMN RO BNIBHE @AW LANAET.

(d) @o$m 0@ 90838 ROGH @RAWDLNIL DA ROBIHEHIBHS ByUDYANA0ET.

4. OUVROVITIBETNES EflonlONOW @RAVAGAOBANG mnva;mjmosrr)"‘.
(3) (I DIBEDOo
(b) =K@l
(¢) @Ddldo
(d) aquomjaiamo
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5. Which among the tollowing is a process of structural change ?
() Industrialisation

(hy  Seccularisation

(¢)  Modernisation

(d) Sanskritisation

6. Match the following : (Scores : Sx1=5)
L \ | B T C |
| e, |
i, | MUNL Srecnivas ' Economic Liberalisation | Capitalism f
g_._ - ___,_%,__ |
L. | British rule i Electronic Money | Westernisation
AR o s
| i Globalisation ' Himalayan toot hill T 1991
T
: e | India | Modernisation | Ecological Sustanability |
r — —;— — e ——————— . —l——-—————————————-——,—‘
| v- ; Chipko Movement | Sanskritisation } Trans National Corporation

Part -1l

Q. Nos. 7 to 11. Answer all questions, each question carries 2 Scores.

(Scores : S x2=10)

7. The goods that people buy and use are closely related to their status in society.

Which term is used to explain above relationship ? Who coined the term ?
8. Define sex ratio.
9. Write any two permanent traits of tribes.

10.  Elements of British colonialism lives on in contemporary India. Give two examples

from the experience ot your daily life.

11. Explain briefly, ‘Time slavery’ in the IT sector.
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(a)  QIAIAVIVOAIBIHNDEMo

()  DCEODOAUBIHNDETIo

(¢)  @RHYWIMBHAUBLHHRET

(d)  TVUBAUMD@EOo

Gal®)oals] CalBoensd, | (e(ggo@av' :5x1=5)

A

1. | af)o. af)™@ TLOMIETNS, mgmejogﬂasnfno
y3ladlasoay’ HBOOAITIBNOEMo l
i i, ﬁ&u@’l@@aﬁ o @Eaa_(s(sommﬁ) ael Tw?oa;mﬁ@_s%;no‘ |
. m@emogm@mmm aGl2oeio® mosaio 1991 (
. @Tm‘— (m@)w;m"lca;mmﬁaa@msmo | mﬁaﬁ&@aﬁo@m

2laiCd0 (LMUEOMo | MVEMVBIMNIBAN0EMo | BOLRPADO caoa,o@%jcsonama

Part - H
7 M®@d 11 A9 af)£:10 ¢21068BU3EN )0 DOM0o af)¥)®)d. 2 ¢aLId allw. :

(capodav’: 5x 2 = 10)

@RYBYHUD TLOWMEIBUY AUIBBYMD)o PalEVIUTBNIMD]o TLAOTTNOE! BRGNS
a130160MTVE) 206, N TV} laleeo08 AR alBAEM BalcoUlenm® ?

DD alBo O} IHA|SIODIV® ARYE ?
Eflo0M)asd®o MNBQ 2100
COMAIBPEHOIOS NLlD TVANEVHDBFT agO®EIEI HOMBINOALITNS

c20807 A0YaIOS GWatla®08 MM VI dleiaiadoniam,. aﬂ-smg;ens
£603MoEIM Hlalmormad allan)e OMBYBANBEMETBUB af)PY®)b:.

aflaio avocH:@ild: (ogg).sl) coaueIod BHOTNHQ|S)AN avawosiame (Time Slavery)
21)®)86) AlOIBlE ).
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Part — H1

Q. Nos. 12 to 15. Answer any three questions, each question carries 3 Scores.

(Scores:3x3=9)

British industriatization fed to deindustrialization of a few sectors in India. Write down

social impact of this plenomenon.

Define Sanskritisation and write down any two criticism against this concept.

The tirst phase ot Green vevolution increased inequalities in rural society. Discuss the

statement.
(a)  Analyse the role of newspapers in the growth of Indian nationalism. (Scores : 2)
(b) Name the Malayalam newpaper associated with National movement. (Score : 1)
Part—1V

Q. Nos. 16 to 19. Answer any three questions, each question carries 4 Scores.

(Scores : 3 x4 =12)
(a) Ditterentiate a social map from a commonsense map. (Scores : 3)
(b)  Which of these map 1s more objective ? (Score: 1)

Critically analyse the impact of national development projects in tribal areas on the life

of tribal communities.
Analyse the impact of commercialization of agriculture in rural India.

Explain the role of media to fight against oppressive social practices and superstitious

beliefs.
6
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Part — 111

12 ;®@d 15 0160 agomslene MHMENOTI®M 2GmMOaa9)®]d:. 3 ¢apod allomo :

(capodav’ : 3 x 3 =9)

Englayd” A11QINOWOITIANOEMo ANIOAE! allel CAMIEIGEITS @RAI00ITOLAITS
sooenel@ (deindustrialization) &20eMa0®©). NP  (UIGIEITVo  OM®IENS)EIQ
ALOBYAO (I JOOLIOBEBBUD af) ).

mocmle,é@mma@s)coémo aAq)a 166> DY AVBGINATNOMGHIW)RS
aBO®®BEle 0ME AllABUIMENBUB af) 9.

an@I® oflgja1elond @RBEReISe (OATEM MVAOIBIGE @RIVAMI AIdWlafla)). 80
(ITV®OIM QileiR]R)em)e:. (eapodav’ : 3)

(a)  enamyM crUBlomWes g lal AIBTMAIM AlMEBUBEN)MEIVID)IM Al

QflvodEIMo a1 . (capodav’ : 2)
(b) GRUBlITNIMONAD O eNINLAETEO YA DEIWOY al(@oTien
CalOOP)D) . (capod : 1)
Part -1V

16 2y®@3 19 190 agomaslel)o 3 Galod 56630?:@9‘ DTDOHAY))d. 4 ¢V Ol :
(capodav : 3 x4 =12)
(a)  LOMOYEB)AISH (social map) TLOAOIMIGENIOW B)alS (commonsense map) ORI
TaMo ag)eanem aI®PaLea|SIdleeym) 2 : (capodav’ : 3)

(b)  eDAIVIM BN @SB3 AUTVDYMayo 2 (capod i 1)

CNI@® QUIBY (AICBUDEREIT3 MSaoHR}aM cAUWI AlGBIVM AIRLGADHW CUID®
adnenoes dHlaleomlenmeiemnmm  (mpPrenmaEnud  alladuomomad.acwi
afle1o)orm 1. (capodav’ : 4)

DLHOOS QaTIR|QUTBBO0eMoe (WOKleM DM IVIENIEIAEIW (A I®PLID®EIBUB
AlSHEIMo §121Q) . (capodav’” : 4)

aded  TLIAA0y @Al  @RMwWalvopILEng)l  (UGNEEOUBH)MEIES
@OW\ABBURBEMBS At ONIBHN)H.
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Part-V
Q. Nos. 20 to 23. Answer any three questions, each question carries 5 Scores.
(Scores : 3 x5 =15)

Explain and relate age structure of population with the dependency ratio and

demographic dividend.

Analyse market as a sccial institution and substantiate your answer with an example of

tribal market.

Describe the changes in indian industry due to Globalisation and Liberalisation,

Brietly explain the impact of globalization on Indian culture.

Part — VI
Q. Nos. 24 to 27. Answer any three questions, each cai'ries 8 Scores.
(Scores : 3 x8=24)
(a)  Detine social discrimination.
(b)  List the major torms of discrimination faced by SCs & STs.

(¢)  Critically evaluate state and non-state initiatives addressing discrimination based

on caste and tribe.

(Hints : Reservations, legislations, reform movements)

(a) Detine civil society. : (Scores : 2)
(b) Point out any two examples ot Civil society initiative. (Scores : 2)

(¢) Examine the relevance of civil society organisations in the contemporary I[ndia,

(Scores : 4)
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Part-V
20 a)@@3 23 A1 a@O@BIEIe AHMANABIM DEMOHAI®d:. 5 capad aflow :

(capodav’ : 3 x5 =15)

2MOAVoAIIWIOS  (OWALISMOW  BRHUIIMAO®Ol)o  EMAVo6UDaIQAIQ
e10ea{laolmanmoe] cmimislaflal alvedledlea)s.

allassmlo@ 80) TLOBANITLEdAIMeM MRl AlldEIMo OalQd. GV
aflaiemHw HBIAOBIMAINWS)B TIIVBSBOS DANB TVIW)DBA ).

@RYCNIBAUBIHNQEMN  HEICAUGHNOEN  MWEBBUD  MElo  NAMYM  AUYUTVLOW
oUIDENEOW MOQe3Ud aileo)mIm)d:.

DA YT AVoTVB:OADTHID @RYCUNIBOAUIG®HOEMo TVYHSl| (A IDHOLIDDIIBUB a1)0)A6N
alaiclee .

Part - VI
24 ool 27 aweewas  cansimdlad  agomolelo  meangnomile’
2ODOOHANNH. 8 capod aflme: (Gpoday” : 3 X8 = 24)

(a)  avo@pany aflcniaime M@Q) oo,

(b)  aigld ROGA - 215l AWBYPAB EMBISIAN (@ IWOIMeag allealaimamndd elgy’
612 1))

(¢) RWGIWOSV)e CULI@BBR)OHSW)o  @RSITLOOMOIENSS Al IMeBUd
emals)an@iay @OEY-00pdlne  TLoneIsSMmE8 aVledla)  WYIDEBUd
afladvomocasac aileixlo)orm)s.

(V2 : TV BEMH, MAMIBA0eMo, MAflE:06M (@ITUOIMEs3U3)

(a)  alMO AV }a0o TAQa NBe))b. (capodav': 2)
(b)  a1PO ALAPOTTNOMG YIDDTBUEH BOHDB:IL1}0 AETE DBOAOENEIBUB af)#Y®)ds.
(cmpodav’: 2)
(€)  UBTMHAIM BHOR! HAN W@ AlDG® TVAJOGTTNOM® (ITVHE al@lcudus9e)d.
(capodav’: 4)
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26, Analyse the sociological signiticance ot Panchayati Raj Institutions.

(Hints : Structure of Panchayati Raj Institutions, inclusion of marginalized. power and

responsibilities.)

27. (a) Define social movements. (Scores : 2)

(b) Explain theorics of soctal movements. (Scores : 6)
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AR QOTIEER AU IMEMBBOS AVAJ]O WDAVMAIORIW (A I0WIMo ANUdBEIMo
£)210Q)) 5.

(M2 INBHUD © Al NOATI00R TLNOIMEBBRINS 2eISM, AlBUIUGNClENNA]g

afleousmog 32180603, ARUNG:00AI 2 NAGEIGS)0)

(2) VOO (LIMUCOMEIRUB TBQ A N9 (ccg.gor%av': 2)
(b)  VOBOY (AITVNIMEBOBHNO2))BB THELITNEBBUD afloidlee)s. (capodav’: 6)
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